bar{A}/K?

o
o))

Ratio to LHCB

o
\l

IIII|IIII|IIII——IIII|IIII|IIII|IIII|IIII|IIII|||||1—\l

0.5

0.4

0.3

0.2

0.1

0.5

000 GeV pp
T T T

m LHCB
--3-- Herwig 7.1.1 default
—a— Pythia 8.150 default
----- ¢ Sherpa 2.2.8 default

AIKOS vs Ay (|ybeam—y|) (0.15 < p <250 GeV)

Soft QCD

|
| ] u
- - —
El ———————————— E ““““““““““““““ 'IE‘ ___________ -D
@ R S TTTTTEPPCORRE AR 4
! ! | ! ! ! ! | | —— I
I ! | =
u N A ﬂ/—/‘\A |
— S U |
O------"" T T e

Rapidity loss QA y)

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


